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pmmEks T4 346 8,387 0.004 0.018 0 00 0 00 0.007 = 0
25 365 8,726 0.004 0.018 0 00 0 00 0.008 = 0
26 364 8,724 0.004 0.021 0 00 0 00 0.009 = 0
27 359 8,595 0.003 0.019 0 00 0 00 0.008 = 0
Y TRk24 358 8,617 0.004 0.016 0 00 0 00 0.007 = 0
LHLER 25 357 8,586 0.004 0.017 0 00 0 00 0.007 = 0
26 364 8,651 0.002 0.016 0 00 0 00 0.004 = 0
27 364 8,661 0.002 0.012 0 00 0 00 0.004 = 0
28 363 8,661 0.002 0.012 0 00 0 00 0.003 = 0
e EE T 346 8,429 0.005 0.016 0 00 0 00 0.009 = 0
25 358 8,637 0.005 0.021 0 00 0 00 0.010 = 0
26 358 8,645 0.005 0.020 0 00 0 00 0.010 = 0
27 363 8,720 0.004 0.018 0 00 0 00 0.008 = 0
28 357 8,583 0.004 0.014 0 00 0 00 0.007 = 0
e TRk24 317 7,786 0.005 0.019 0 00 0 00 0.009 = 0
MBHHE 25 360 8,658 0.005 0.020 0 00 0 00 0.009 = 0
26 362 8,704 0.004 0.021 0 00 0 00 0.008 = 0
27 363 8,721 0.004 0.025 0 00 0 00 0.008 = 0
28 363 8,700 0.004 0.021 0 00 0 00 0.008 = 0
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pillnal IE]S] 48 58 6RA 7HA 8A 98 10A MA 1A 1A 28 3B €9
YRS BRAlE B = 30 31 30 31 31 28 31 30 31 31 28 31 363
LEBES RIS b5 712 737 712 737 734 703 738 714 734 738 666 736 8,661
T9iE ppm  0.002 0.002 0.002 0.002 0002 0.001 0.001 0.001 0001 0001 0.001 0.002 0.002
EBEH01ppmEBZ 215/ B 0 0 0 0 0 0 0 0 0 0 0 0 0
BEHSEBEH0.04ppmEBZEEH B 0 0 0 0 0 0 0 0 0 0 0 0 0
1BEBENRSE ppm  0.007 0.0172 0.005 0.07 0.006 0.05 0.007 0.004 0.008 0.006 0.009 0.009 0.012
BESEBEORSE ppm  0.003 0.005 0.003 0.004 0.003 0.003 0.02 0.002 0.003 0003 0002 0.004 0.005
BaRIEB = 30 31 30 29 31 30 31 24 31 31 28 31 357
BB SBIREBERS bR 718 742 74T 721 742 714 738 598 740 742 670 741 8,583
Ti9iE ppm  0.005 0.005 0.004 0.04 0004 0.003 0.04 0.004 0.03 0003 0004 0.005 0.004
ESBEH01ppmEBZ 215/ B[ 0 0 0 0 0 0 0 0 0 0 0 0 0
BEEEBEH0.04ppmEBZEEH B 0 0 0 0 0 0 0 0 0 0 0 0 0
1IBEENESE ppm  0.013 0.014 0.011 0.009 0009 0.010 0.009 0.07 0.09 0008 0009 0.012 0.014
BESENRESE ppm  0.008 0.008 0.007 0.006 0.005 0.05 0.004 0.005 0.006 0.006 0.006 0.007 0.008
UREB BAIEB B 30 31 30 31 31 30 31 29 31 30 28 31 363
ERHFNE  RIESR 153 718 T4 716 742 741 713 742 713 738 725 669 742 8,700
Ti9iE ppm  0.005 0.006 0.004 0.004 0004 0.004 0.03 0.004 0.03 0003 0004 0.05 0.004
ESBEH0.1ppmEBZ 215/ B[ 0 0 0 0 0 0 0 0 0 0 0 0 0
BEHE@EN0.04ppmEBZZEE B 0 0 0 0 0 0 0 0 0 0 0 0 0
1IBEENESE ppm  0.016 0.021 0.012 0.010 0008 0.011 0.009 0.010 0012 0013 0.011 0.017 0.021

BI¥IENESE ppm  0.009 0.010 0.006 0.006 0.005 0.007 0.005 0.005 0.006 0.006 0.006 0.009 0.010




